3. Kara took 10 random samples of the winning margins for each of two professional
hasketball teams. The sample size was 4. The disiributions of the sanmple means are

shown in these histograms.

Mean Winniog Marging

Mean Winniag Bargios
Team 1

Ose o X §EY W
L % ,} &4 “ 2 =1 (PN

[

-

~
L&

| 8 b\ O] 5 = § : £
P P P Ol : ’
fb\ i Y .1 r}‘ . ( ‘J ig 4 § )
10 z 4
0!( ver | 1 - 5 -
@ ‘,__j._ - s : 3
([ (( ]
: i A - 1 I
X 11 : ‘ i
o | @ s 11w ¥ 4 5 12 1% W

Sample Viean

_ Samapie Mean
fushaing

{praimdsd

L
9\0 ( 5(; 1( ,57’5

‘Which is the best estimate of the standard deviation for both samples?

A, Tears 3 2 2.2 points
B. Team 1: 7.4 poitts, Team 2: 4.4 ponts
- Team 1: 15 points, Team 2: 3.5 points
D. Team 1. 10 points, Teamn 2: 10 points
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John wok 10 random sanoples of the winning margins for each of nwo professional

hasketball teams. The disa b uiions of the samp ke roeans are shown in these hisiograms.

Mean Winning Mavgins
feam |

Yean “%%'_éﬁr‘-%’fﬁsgg Margios

IEE#FST E

-
§?f ’(\ //‘5

i ¥ o1r e

saiegpde Sean

psnply Yean
{ppdirlag

dgprening

Based on John's data, which statemend is MOST likely ue?
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A, Boththe smarple mean and the sample standand dewiation are greater for Tearn 1 than for

R

: zampde means for both tearmns are equal, but the ssmple standard
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& sarnple means for both teams are equal, but the sample standard deviation for Team 2
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1

I

. oy %_\\\
devtation for Tearn 1 )

e it

e 2 than for



